REWARD System — For Even Money Bet in Roulette
By lzak Matatya

By even money betting we mean betting on Red or Black, High or Low, Even or
Odd, because they pay 1 to 1. With the exception of the green zeros, those
areas cover half the numbers. The probability of their occurrence is nearly 50%,
almost like flipping a coin. On the long run, we can expect half of all bets being
Red, Black, High, Low, Even or Odd. But this means over millions of spins.

We are not interested in playing so many spins. If we do, with flat bets, the
casino will win 5.26% of everything you have wagered because of the zeros, that
are to come once every 19 spins in average in American double zero wheel and
once every 37 spins in average in European single zero wheel.

What we are interested in is making profits betting on even betting areas, over a
certain period of time. There have been numerous systems designed so far for
even areas, such as the double up Martingale system, the D’Alembert system,
LaBouchere, Oscar’s grind, etc., which work for a while, then wipe out your
bankroll, the moment they fail, eliminating all the profits you have made so far.

If they were no table limits, even the most classic system, such as Martingale
would beat the casino. You start by placing one unit on the table. If you lose,
you double your bet. If you lose again, you double again, until finally you win and
profit one unit. Some people bet on a certain colour, say on Red. Let’s say you
keep betting on Red, and Black comes up for 9 times in a row, before Red finally
hits. You would be placingl +2+4+8+ 16 + 32+ 64 + 128 + 256 + 512 =
1023 chips on the table to win 1 unit profit. If your unit value is $10, would you
risk $10,230 to profit only $10? What if Black comes up 14 or 18 times before
Red shows up. Calculate how much you need to put on the table for just 1 chip
gain. Nevertheless if the table had absolutely no limits, you would win your chip
even if you have to invest $50,000 for it.

But the table does have limits, and this is what makes most systems fail, except
for the one you are about to read.

First of all, it is important to observe patterns of even money areas, rather than
betting on one color. For the sake of this document, | will refer only to color bets,
i.e. Red and Black, although the system can be applied to all even money bet
areas, such as High/Low and Even/Odd. What do we mean with patterns?

Red and Black may come up in an alternating manner, such as one Red, one
Black, one Red, one Black, etc. We’'ll call that a zig-zag pattern. Sometimes,
they chop with a double appearance, that is, two Reds, two Blacks, one Red, two
Blacks, etc. We'll refer to this as a quasi zig-zag pattern. And sometimes, you
have longer streaks of either Reds or Blacks. We’ll call this a string pattern or a
streak of a specific color.



One more feature that we need to observe is the frequency of the variation of
those patterns, that is, how often does a zig-zag pattern switch to a quasi zig-zag
or to a string pattern and vice versa. Do zig-zag patterns follow each other? Do
we have long streaks of Reds followed by long streaks of Blacks?

Those are important questions for this system, not only for the system to be
successful, but also to avoid reaching table limits. As | said before, even a
Martingale can be successful, particularly if it is used cautiously. What do we
mean to use it cautiously? We could use it, for instance, not to exceed 5 steps.
A 5 step Martingale progression would be 1, 2, 4, 8, 16 units. With $10 chips, it
would be $10, $20, $40, $80, $160. With $50 chips, it would be $50, $100, $200,
$400 and $800, etc.

| find it much more effective to bet on a color that repeats, following the last
decision, rather than on one specific one. This has many advantages. First of
all, if you get a streak of a specific color, and you will many times, you win spin
after spin. If you get a quasi zig-zag pattern, you will win every time the color
repeats. Just observe Roulette scoreboards, you will be amazed about the
number of times a color repeats. And when it goes zig-zag, it doesn’t last too
long, maybe 6-7 times tops until there is a repeat in between or the whole pattern
turns into long streaks.

The systems described in this document will all be based on repeating colors or
even money bet areas. It will be very rewarding. That’s where the name of the
system comes from and think of the word REWARD as an acronym meaning:
Repeating Even Win A Red Double.

If we were to bet on a color that just came up, we would be betting on a repeat
color. That means if Black came up, our next bet is placed on Black. If Red
came up, we place our next bet on Red, etc. If a zero comes up, then we place
our bet on the last color that was there before the zero. You would be very
successful if you were to limit Martingale to 4 or maximum 5 steps and would bet
on a repeating color after you have observed one or a sequence of zig-zags and
then bet following the color that just came up, catching streaks of Reds or Blacks.

You need not really wait too long, before this opportunity shows up. You can be
sitting at a table, where you could see scoreboards of other tables and it is very
easy to see, that a table is choppy where Reds and Blacks alternate very often.
Also, it is easy to see long streaks of Reds and Blacks. If you don’t want to move
around you can track other even areas at the same table by observing patterns
of Evens/Odds, or Lows/Highs.

In summary, if you wait for a zig-zag pattern of any even money betting area until
a repeat that marks the end of the zig-zag and apply a 4-5 step Martingale, you
can be sure of winning 5-10 bets in a row.



Table 1 below will illustrate this. The column Count Losses will count the
number of times the color alternates before it wins. As long as this count is less
or equal to 5, the runs ends with a unit profit according to 5 step Martingale. The
column End of Lost Run will turn to an “E”, when the 5 step Martingale fails and
we lose 31 units (the sum of 1,2,4,8,16).

Table 1:
Red / Count Units End of
Seq # | Number | Black | W/L |Losses [Won/lost | lost run [Net Units

1 27 R 0

2 35 B L 1 0 0
3 23 R L 2 0 0
4 33 B L 3 0 0
5 26 B W 0 1 1
6 23 R L 1 0 1
7 31 B L 2 0 1
8 3 R L 3 0 1
9 33 B L 4 0 1
10 22 B W 0 1 2
11 18 R L 1 0 2
12 35 B L 2 0 2
13 15 B wW 0 1 3
14 26 B wW 0 1 4
15 11 B wW 0 1 5
16 23 R L 1 0 5
17 18 R wW 0 1 6
18 9 R wW 0 1 7
19 7 R wW 0 1 8
20 12 R W 0 1 9
21 34 R wW 0 1 10
22 7 R wW 0 1 11
23 22 B L 1 0 11
24 14 R L 2 0 11
25 29 B L 3 0 11
26 14 R L 4 0 11
27 18 R W 0 1 12
28 10 B L 1 0 12
29 30 R L 2 0 12
30 14 R W 0 1 13
31 19 R W 0 1 14
32 5 R W 0 1 15
33 16 R wW 0 1 16
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175 34 R L 4 0 55
176 20 B L 5 -32 E 23
177 4 B W 0 1 24
178 11 B W 0 1 25
179 13 B W 0 1 26
180 12 R L 1 0 26
181 16 R W 0 1 27
182 31 B L 1 0 27
183 31 B W 0 1 28
184 27 R L 1 0 28
185 7 R W 0 1 29
186 12 R W 0 1 30
187 29 B L 1 0 30
188 5 R L 2 0 30
189 8 B L 3 0 30
190 31 B W 0 1 31
191 L 1 0 31
192 4 B w 0 1 32
193 22 B W 0 1 33
194 L 1 0 33
195 16 R L 2 0 33
196 2 B L 3 0 33
197 13 B W 0 1 34
198 24 B W 0 1 35
199 1 R L 1 0 35
200 21 R w 0 1 36

We are always betting on the color that just came up. If the last decision is a
Black, we bet on Black. If the last decision is a Red we bet on Red. If the last
decision is Green (a zero), then we bet on the color that came up before the
zero, or zeros. All this with a 5 step Martingale progression of 1, 2, 4, 8, 16 units.

In sequence 1, we come to the Roulette table and see that the last decision was
a Red. We bet 1 unit on Red, we lose. We bet 2 units on Black, we lose. We bet
4 units on Red, we lose. We bet 8 units on Black we win. Our profit is 1 unit
registered in the column Net Units.

We seem to be doing fine with this 5 step Martingale for 60 spins, having gained
30 unit profit, until suddenly we lose more than 5 times in a row, resulting a loss
of 31 units (the table shows 32, let’s just not forget to tip the croupier after
winning 60 spins!). All our profit so far is lost in one run.

Say, we were patiently waiting for 5-6 such zig-zags before we start betting. And
after it happens in sequences 60-68, we go for a 5 step Martingale. Then we
limit the number of runs to say not more than 10. This will tremendously increase
our chances to come out a winner, as we control our greed and do not play
continuously until the Martingale fails, making us lose the hard earned 31 units, 1



unit at a time.
That means in sequence 84, we stop, having won 10 runs.

In sequence 176, we observe another failure of the 5 step Martingale.
Fortunately we were not betting then. We start betting right after the failure is
over, after the very first win. So we start betting on a repeat color in sequence
178. We play 10 runs, win 10 more units and we quit in sequence 193.

This system works pretty much OK, as long as you don’t get caught in a series of
zig-zags, particularly when they come back to back.

That’'s why we need a system that is better than a 5 step Martingale, so we can
ensure a winning run even if it lasts more than 5 spins, even if we lose more than
5 times in a row.

In fact, the system we will withess now will always end with a run that wins, even
if we have lost 8 or 10 times in a row. It will be enough to have wins that are
equal to the number of losses plus 3 divided by 3. The mathematical formula is:

W= (L +3)/3

Where W is the number of wins and
L is the number of losses.

In short, we will need to win a lot less times than losing in order to close the run.
According to this formula, if we lose 12 times, we need to win only 5 times to
close the run, as 5 = (12 + 3)/3 or 15/3.

If we lose 9 times, we only need to win 4 times to close the run.
If we have 3 losses, we need to win only twice.

In other words, we now have the advantage. It is no longer 50-50 for Blacks or
Reds. We need to win a lot less than we lose, to close the loop.

How de we achieve this?

We will see exactly how it works after the following simulation in Table 2. We will
still be betting on the same color that just came up. The table will count the
number of wins (column Count Wins) and the number of losses (column Count
Losses). The moment the number of wins equals the number of losses plus 3
divided by 3, it will indicate the end of the winning run. The system will always
result in winning runs.

The column End of Run indicates the end of the winning run now, as opposed to
Martingale’s losing run.



Also, please note that winning the first bet is the end of the winning run and we
start a new one.

We don’t count the losing sessions, simply because there will be none.
(Surprised? Just wait and see).

Table 2:
Count
Red / Count | Count | End of | Winning
Seq # | Number | Black | W/L | Wins |[Losses| Run |Sessions
1 10 B 0 0 0
2 6 B wW 1 0 E 1
3 33 B wW 1 0 E 2
4 31 B wW 1 0 E 3
5 24 B W 1 0 E 4
6 5 R L 0 1 4
7 27 R wW 1 1 4
8 32 R wW 2 1 E 5
9 4 B L 0 1 5
10 17 B wW 1 1 5
11 L 1 2 5
12 29 B wW 2 2 E 6
13 36 R L 0 1 6
14 19 R wW 1 1 6
15 26 B L 1 2 6
16 31 B wW 2 2 E 7
17 L 0 1 7
18 22 B wW 1 1 7
19 10 B wW 2 1 E 8
20 7 R L 0 1 8
21 L 0 2 8
22 34 R wW 1 2 8
23 9 R wW 2 2 E 9
24 13 B L 0 1 9
25 2 B W 1 1 9
26 7 R L 1 2 9
27 4 B L 1 3 9
28 26 B wW 2 3 E 10
29 31 B W 1 0 E 11
30 16 R L 0 1 11
31 31 B L 0 2 11
32 18 R L 0 3 11
33 9 R W 1 3 11
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457 5 R L 1 2 120
458 29 B L 1 3 120
459 7 R L 1 4 120
460 35 B L 1 5 120
461 20 B W 2 5 120
462 26 B W 3 5 E 121
463 16 R L 0 1 121
464 7 R W 1 1 121
465 28 B L 1 2 121
466 1 R L 1 3 121
467 28 B L 1 4 121
468 7 R L 1 5 121
469 11 B L 1 6 121
470 6 B W 2 6 121
471 11 B W 3 6 E 122
472 L 0 1 122
473 2 B W 1 1 122
474 27 R L 1 2 122
475 21 R W 2 2 E 123
476 26 B L 0 1 123
477 26 B W 1 1 123
478 33 B W 2 1 E 124
479 33 B W 1 0 E 125
480 3 R L 0 1 125
481 2 B L 0 2 125
482 22 B W 1 2 125
483 10 B W 2 2 E 126
484 9 R L 0 1 126
485 29 B L 0 2 126
486 27 R L 0 3 126
487 29 B L 0 4 126
488 17 B W 1 4 126
489 19 R L 1 5 126
490 2 B L 1 6 126
491 7 R L 1 I 126
492 7 R W 2 I 126
493 32 R w 3 7 126
494 26 B L 3 8 126
495 9 R L 3 9 126
496 25 R W 4 9 E 127
497 17 B L 0 1 127
498 36 R L 0 2 127
499 32 R W 1 2 127

So, we played for almost 500 spins and we had no losing runs
Roulette was unbeatable. What's going on here? Have we discovered
something new, or is there any catch? And we still don’t know how the system

. And we thought



works and what makes it work. But, patience, by the end of the document
everything will be crystal clear, as we will see many examples referring to the
simulation in Table 2.

The trick for this system to work as well as it does, is that when we lose, we go
one step backwards, and when we win we go 3 steps ahead. This is why the
formula W = (L + 3)/3 is active. Since it’s on this page, look at sequences 484 to
496. The run goes for 13 spins, we lose 9 times and we win 4 and the winning
run ends.

| think we waited enough and we deserve an explanation on how and why this
system works consistently and never fails.

Please note first that if we were playing the 5 step Martingale, observe that in
sequence 115 we lose 6 times in a row, which would result in a 31 unit loss. The
same can be said about sequence 148, where Martingale fails again. And in
sequences 297, 440, 465, Martingale fails. Failing Martingale 5 times results in
—153 units. But in this system such failures never happen. We keep our 127
gained units.

Explanation

| think | kept you enough in suspense, before | reveal this wonderful system.
You will find it simple to use after you get the feel of it. It's important to
understand it well and practice it with simulated runs.

Referring to Table 2 above, you come to the Roulette table, you see the last
decision is a Black, you bet 3 units on Black. Black comes you win, this ends the
run. You profit 3 units at every run.

You keep betting on Black again. It wins 4 times in a row. You already have a
12 unit profit.

In sequence 6 a Red shows up, we lose our bet. We write down the 3 units we
lose on a betting chart.

In sequence 7, we bet 3 units again on Red (the last decision). Red comes up
and we win, but we are even.

In sequence 8, we bet 3 units again on Red. We win. We profit 3 units. This
ends this run.

Those were the simple cases.
Let’s take a more complex run, that starts in sequence 30 in Table 2, right after

the previous run is ended in Sequence 29. This time we’ll create a little scheme
that will track what we write down and how we bet.



Count

Red / Count | Count | End of | Winning

Seq # | Number | Black | W/L | Wins |[Losses| Run |Sessions
29 31 B w 1 0 E 11
30 16 R L 0 1 11
31 31 B L 0 2 11
32 18 R L 0 3 11
33 9 R w 1 3 11
34 28 B L 1 4 11
35 31 B wW 2 4 11
36 27 R L 2 5 11
37 32 R w 3 5 E 12

The first thing we always do, we write down the 3 units we are about to bet.

In sequence 30, we bet 3 units on Black. We lose. We write down the 3 next to
the 3 we had written down.

In sequence 31, we bet 3 units on Red. We lose again. We write down another
3 next to the previous one.

We will be betting those 3 units consistently until we have a first win.

In sequence 32, we bet 3 units on Black. We lose again. We write down another
3 next to the previous three 3’s.

In sequence 33, we bet 3 units on Red. This time we win. We cross out the first
3 we have written down. We do this (cross out 1 number) only after the first win.
That leaves us with another three 3’s.

After the first win, we start betting on the sum of the 3 numbers we have written
down. In our case we have three 3’s, so we bet 9 chips on Red in sequence 34
and we lose. We write down the 9 that we lost next to the numbers we have
written down so far. We should have so far written three 3’s and one 9.

So, from now on, that is after we had the first win, the rule is that we write down
the number of chips we lose next to all the numbers we have written and we
always bet on the sum of the three numbers after our first win.

In sequence 34, we bet 9 chips (the sum of the first three 3’s written down) on
Red. We lose. We write down the 9 we lost next to the number sequence. We
should have three 3’s and two 9’s written down.

In sequence 35, we bet 9 chips (the sum of the first three 3’s written down) on
Black following the last decision. We win. This is the second win. This time we
cross out all 3 numbers that we have bet on, that gave the sum of 9. We are left
with the two 9’s that were written down.

Since we don’t have 3 numbers written down, we bet on only the sum of the two
9’s, that is 18 chips on Black in sequence 36. Red comes up. We lose. We
write down the lost 18 next to the two 9’s.



Our next bet will be the sum of the three numbers written down, thatis 9 + 9 + 18
or 36 chips on the last decision, that is on Red. Red comes up, we win, we Cross
out all 3 numbers that we have bet on. That ends this run and we profit 3 units.

As you can see, every win takes us 3 steps ahead towards our goal of winning
the run and every loss is only 1 step backwards. The run ends when there are
no more numbers written down, when they are all crossed out.

Let’s take another case, one of the worst case scenarios, that of sequences
200-212 in Table 2, where it takes 12 spins to end the run.

Red / Count| Count | End of
Seq# | Number | Black | W/L | Wins |Losses| Run Tracking Mechanism
199 7 R w | 2 3 E Bet | Scheme
200 24 B L 0 1 3 33
201 8 B W 1 1 3 33
202 L 1 2 3 33
203 1 R L 1 3 6 336
204 L 1 4 12 33612
205 8 B L 1 5 12 3361212
206 24 B W 2 5 12 3361212
207 14 R L 2 6 24 1212 24
208 6 B L 2 7 48 1212 24 48
209 L 2 8 48 12 12 24 48 48
210 3 R L 2 9 48 12 12 24 48 48 48
211 34 R W 3 9 48 1212 24 48 48 48
212 34 R W 4 9 E 144 48-48-48

After a run is finished in sequence 199, we start a new run in sequence 200.
First we write down the 3 units as indicated in Scheme column.

We lose our first bet in sequence 200, so we write down another 3 next to the
first 3.

We bet 3 chips again on Black in sequence 201. We win. This is the first win,
thus this eliminates the first 3 only and we cross it out.

After our first win, we bet the sum of up to three numbers written down. We only
have one 3, so bet 3 chips.

We bet on Black. A zero comes up, we lose. We write down the 3 that we lost.
We bet on Black again for the sum of the two 3’s, that is 6 chips, since we have
only 2 numbers. Red comes up. We lose. We write down the 6 that we lost.
Now the sum of three numbers written down is 12 (3 + 3 + 6). We bet 12 chips
on our next bet, we lose, we write down the 12 that we lost and so on.

When we win, we cross out the first three numbers and then bet on the sum of




the first three numbers that are left on the scheme.

Since we are betting on the sum of the first three numbers and we cross them
out every time we win, we advance three times faster towards our 3 unit profit
destination. That’s why this system hardly fails, as even money bets chances
are almost 50-50 for wins and losses, but when we win we are ahead three times
more than just once.

Another advantage of this system is that every time we lose, we don’t have to
double up from one loss to another. As a matter of fact, we could lose 12-15
times in a row and all we need to wager is the sum of the first three numbers that
are the same, if no win occurs in between.

In the case that we lose 15 times in a row, we need to win only (15+3)/3 =6
times to end the run, because winning 6 times will eliminate 16 numbers (the first
win, only 1 and all the other wins, 3 numbers).

So, no need to be afraid of losing streaks, as the betting amount doesn’t change
from one loss to another. We could have a 7 zig-zag pattern, that changes later
into a streak of repeating colors and we would end the run successfully.

Now, this system postpones the reaching of the table limit tremendously, unlike a
Martingale that takes not more than 7-8 losses to reach the table maximum bet
limit. If you ever encounter a situation where you need to bet a large sum, it is
possible to split your bet into smaller sums, such as one third of them, by simply
writing those numbers down next to the previous ones.

For instance, if you need to wager 144 chips and you are reluctant to do so, then
split your bet into two numbers of 72 chips, or into 3 numbers of 48 chips, by
writing them down and bet on the sum of the first three numbers. This will extend
a bit the time of the end of the run, but will avoid reaching the table’s maximum
limit.

So, when the bets get high, you simply divide them in smaller portions.
Supposing on your betting scheme you have 3336669991212 12 48 48 48
You bet 9 you win, now you have 6 6 6 999 12 12 12 48 48 48

You win 3 more bets and now you have 48 48 48. This requires a 144 unit bet.

Instead of placing 144 units on the table, write 18 8 times, so 144 will become 18
1818181818 18 18

So your next bet becomes only 54 units instead of 144. Yes, you need to win 3
more bets, but with IBS advantage of needing to win 26% when you are winning



49% on all Player bets, it's a piece of cake. Also, you never exceed table limits
this way.

You can of course further divide all the 18’s into three 6’s and the 6’s into three
2’s to reduce your bets as much as possible until you reach the level with which
you feel comfortable. Every split will extend the time the run will be resolved with
a win, but it will come to a resolution.

Another suggestion | can have for you using the split bet technique, is that when
you reach a stage that you have to place a high amount, simply split it into
multiple sessions with a certain win target.

What | mean is the following: Supposing you need to bet a 48 unit bet and this is
what you have in your betting scheme and you don't feel comfortable with that
amount, then you can simply divide this into 6 sessions of 8 unit or 8 sessions of
6 unit targets.

What do we mean with target? When you apply REWARD, your initial target is to
win that 1 unit or 3 units as documented. This is usually accomplished within 1 to
15 bets. Let's say that this was not accomplished in 15 bets and you reached a
stage that you have to bet 48 units. Then simply start 6 new sessions with an 8
unit win target. Since 95% of the runs are won easily, you would be winning
those 6 sessions without risking to bet high amounts. This works very well.



